1%
S AND INT

Tlgw: Weite as g‘l'f[%c).y:@oc}
X

trest as veculr oF PRoOpUCT KULE
with o piece wmissing

SoO:
1. Get "7"+jf on ONE SIDE

2. Dot jus‘f' l\t,\am_& flo leftside_
~FRad "wissfus" piece, to creste  vesul o prduct e

&y =
R+P(XJ7 Q(x)

/&(K):%(i + RO PRY = A0 QW

NEEDS: st
| Sowetlimg flak repeads iFsele: e
2. d%x is a deviv, w/ iwrl-‘c.i{" diflesreatver
3. P = flcx) —"f(x)=[Pooon

( /b()() - efP(x)dx



iy
.4 2y =
R
x3 x3 X
) 2. 2
Frx?T R
/,C,()__eSPwo\x
1600 e %&‘ .aﬁw:c:"ux
/,(X)- xs
:;l&x 2y = X2
X x:‘
2\_2 + 3x° y = 2
[ox p T =fo b
x3>/:zx
EX
A
a—xzw“y =2, ylo=0
oly
1. = - . d’
. r (2-y)-1 2, ﬁﬂyﬂ.
Vor ™ wiv —y
I_’A [,0( % P =
z—y y= X M -}-1,
) ] ) /60()._. 1A%
In|2-y[=xtC ,bcx)fe"
lu]2-y] = -%-c dy o x
,2'7}=e-x‘° Jd"fey—ze
_ X &
Z-Y:‘Lcce— fDxie Y]::ZCKAK
2-y= C-
7 C-& = ex Y:?_e‘ +C
-0=C s -
2-0 e >C=2 e.0=2e tC
2-Y = 26‘ x’Z.‘-'C»
—‘)I = -2 ‘fze:x ?/y #2Ze -*
X e"
)=2 -
y (x 2-2e y=2~ﬁx



